
Springs IB I1

1. Does the force needed to stretch or compress a spring remain constant? Explain.
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2. Sketch the expected relationship on the axes at right
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3. What is the significánce of the slope of the graph?
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4. Sketch on the graph the relationship lor a stiffer spling.

5. If it takes 20. newtons of force to compress a spring 8.0 cm, what is its spring constant?
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- IB 11

6. The graph at right shows the amount of force needed to stretch a bungee cord a certain
distance. Calculate:

a) the spring constant of the bungee cord.
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b) the amount of work needed to stretch the bungee cord 10. meters.
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c) the area under the curve
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7l How much work is done stretching a spring 0.50 meter if the spring constant is 40. N/m?
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Energy IB 11

Identify the types of energy displayed in the pictures below, using the concept tree provided
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